EBESN T REZINFIRNEREEMETCERRFAES R

B AT =R
1~ RS  RHIE ? 1~ FOESIARER AR ASSHIE ? 8~ MRARHEAN » REE(BRESE
x5 =K 7 % =4t E = G 4 EEa= BEFRERESTEITBERLN
Eo A (e | 5 | 1471% Fiawsm | 1s | 4roew| [RRERIZE?
W o4 70.59% AR T A NS [ 17 50.00% E X 8 ERa-
H AN 5 14.71% BHE NG 1 2.94% JFERSY 0 0.00%
H# AN (RN 0 0.00% RFER 0.00% Rsy 19 55.88%
IREUN 0 0.00% GET 1 B 34 100.00% T 15 44.12%
T 0 0.00% RISy 0.00%
FE B R & 2 8 0 0.00% 2+ @?n]?%a%%rkﬁﬁmaﬁgmﬁﬁm ? JFERFS 0.00%
KERF MG 0 0.00% & K g H 4 KEMR 0.00%
& Et 8 34 100.00% JEELF 0 0.00% & at F 34 100.00%
"% 22 64.71%
2~ ERIREE - BHEREH O 11 32.35% 9~ MBMERE - BEE (REER
& K & | 857 % 0.00% B)E MR EA RS S RER
SN 0.00% JEE AT 0.00% RS RAE FIERRIRER ?
ERE 0.00% KFR 1 2.94% & E Es s [Esg=w
BERL 0.00% &t 8y 34 100.00% JEEF 4y 0.00%
B 0.00% RAST 20 58.82%
(=hs 0.00% 3 MEE (REEHE)E A LR ? L 14 41.18%
R 0.00% Kz vas i = N 0.00%
A 2 5.88% S BE E 34 100.00% R ARLY 0.00%
B 0 0.00% EIEL053 58 DLA 0 0.00% * £ 0.00%
i 0.00% FEIE10%5304 5% 0.00% &y 34 100.00%
SR 0 0.00% HEHEI0ZE 6047 §% 0.00%
R 4 11.76% BIEC05r$ DL I 0.00%
e 0 0.00% KT 0 0.00% FRETHE AR SN BRERW
(e 2 5.88% & {é{c 5 34 100.00% % ?
i 0 0.00% E E ey | E ik
R 1 2.94% 4~ ERRBBEE(REEHE)NVHEE IEF MR 0.00%
ER 1 2.94% RN 7 e i 35.29%
51 1 2.94% E E g Bttt e 22 64.71%
0718 0 0.00% JEE U 0 0.00% K= 0.00%
AL 2 5.88% 1R 4 22 64.71% IEERIE 0.00%
A 0.00% e 12 35.29% * £ 0.00%
R 2 5.88% N %F &t # 34 100.00%
R 1 2.94% FEH AT
g 3 8.82% E R 0.00% 11 - FHEHABNRBIEEE S
A 0 0.00% & 8y 34 100.00% R ?
TR 0 0.00% & = GR H 7 Lh
R 0 0.00% - ERRRRE (REERE) MER IEEHE 0.00%
Em 1 2.94% ’5 PRI A 7 e 12 35.29%
T 0 0.00% x %= bl H 7 Sliy=y 22 64.71%
ifiy 1 2.94% FERE 0 0.00% R 0 0.00%
R 2 5.88% o 22 64.71% TS 0.00%
L 1 2.94% I E 12 35.29% * £ 0.00%
st 0 0.00% ATRE SEANGEE ) 34 100.00%
FepE 2 5.88% FEHAR
Giliks 2 5.88% FFER 0.00% 12 ~ FHRBL ¥ﬂi%ﬁj:ﬁ§?%?§1§%=
P 2 5.88% &t 8y 34 100.00% EREWE
|24k 1 2.94% & = 8 B 7 Lh
2R 0 0.00% 6 - REE(REEHE)HRG)BE FEEME 0.00%
S 0.00% P REAEEHRE ? S 12 35.29%
BLAE 2 5.88% x % Gt = Sliy=y 22 64.71%
FSH% 0 0.00% Hefgss 31 91.18% RiaE 0.00%
B 1 2.94% B E S 0 0.00% IFERWE 0.00%
SRR 0.00% ESLESes = =1 ' E R 0.00%
EEEE 34 100.00% ﬁzé\/ﬁ%ﬁ‘% 0.00% & B 1 B 34 100.00%
K HaE 3 8.82%
FKFER 0.00% 13 - FREHAE B T HEE ERY
& a8 34 100.00% BN - EREMR SR 7
& K TGS B4yt
7T REE (BRESHE) A (8) IEEHE 0.00%
MR % AR RESE S 12 35.29%
HITHEERAE ? pye) P 5710
& x k& | B R 0 0.00%
IEE TSy 0 0.00% FFERWE 0.00%
1R75T 20 58.82% K FER 0 0.00%
S 14 41.18% & B B 34 100.00%
Ry 0.00%
FEHEAR T 0.00% 14 ~ 111485 B HPERILA0M4 -
AR R 0.00% 15 KHESEANEMEBEROMA -
& &t fF B 34 100.00% it

— EFEE‘-EAZIK% AT -
T BT E RN AZEE > DENER -



